logg 0.25 = x & BFEoh= x O] 7127

N2 .

1 1
@1 @ -3 3 1

] o

B

logg 0.25 = x°[ A 8 = 0.25
(23)x — . 23x — 2—2

L 3x=-2

A~ =

.x__z
T3




2. 1+4logg12—logg4 2] Ft2?

® 21 ©: @ 2

DN | =

B

DO | Ot

logg 12 —logg 4 = 1 4 logy 9 + logg 12 — logg 4
=logg(9x 12 + 4)

= logg 27 = logs. 33 = g




1 1 3 }
3. log; V6 - 5 logy o — 5 logy V302 AtsH?

1 1
@2 @ 51 ® —5
@ §log32 ® —Elog32

1 1 3
logs V6 — 510g3 = §log3 V30

1 1 31
= 5logs 6+ 5 logg 5~ o - 2 logs 30

(logs 6 + logs 5 — log, 30)

(logg 30 — logs 30) = 0

N o~ N




4. log;p2=a, log;y3=>b%A M, log, 125 a, b= YEFYH?

@D 2ab @ a?b @2a+b
@ a>+b ® a+2b

B

log;o 12 = logy, (3 % 22)
= log;( 3 + log; 22

= log; 3 + 2log;( 2
=b+2a




1 -
{37 =1, logyb=1-log, 5 U W, ab ] 9 T}z,

>
> = 162

8

Vi =4 25 =22

a
- =29a=6
@3 a

1
logs b =1 —logs )

& logs b = logs 3 + logs 32
& logy b = log; 33

o b=3>

. ab=6x33 =162




6.

< logo(n +2) 2] Al 98327

D log, 10 @ log, 100

@ 1 @2

® 10

a, = logo(n+2)°]|B=2
ags = log;, 100 = log;, 10? = 2log;, 10 = 2
wHebA] , Al 9832 20]th




log; 10 9] &4 F-ES o2t & o, 30 9] 3127

10 10 100 100
@y o3 oy o

= 3

Wl =

10
log310=2+a/(050/<1)°]E§a:log310—2:log3?
o] Htt,
wetA] g = goms # = 2 olet,




5¢ =2, 5* = 30]a} & u, loggs 725 a2} b2 4]0 HE2 A LtERH
A2
a+b 2a+b 2a-b
@ a—b @ b—-a @ a+b
2a+b 3a+2b
©
a+b a+b

a =logs 2, b =logs3
3logs 2 +2logs3  3a+2b
logs 2 +1logs3  a+b

logg 72 =




L2 log6.32 0.80°]1, a = log6300, logh = —1.20 ¢ o],
a+10b 9] 27

D 3.80 @ 4.04 ® 4.28 @ 4.32 @4.43

B ~

a = log 6300 = log(1000 x 6.3) = 3 + log 6.3 = 3.80°] 1
logh = —1.20 = -2 + 0.80 = log 0.01 + log 6.3

= 1og 0.063 |22 b = 0.063

~.a+10b = 3.80 + 0.63 = 4.43




10.

log(314xA) =1.0471 ¢ W, FF AQ S hS A E2IRE

Stof gk A7
& 0 1 2 3 4 5
3.0 | 4771 | 4786 | 4800 | .4814 | .4829 | .4843
3.1 | 4914 | 4928 | 4942 | .4955 | .4969 | .4983
3.2 | .5051 | .5065 | .5079 | .5092 | .5105 | .5119
3.3 | .5b185 | .5b198 | 5211 | .5224 | .5326 | .5250
3.4 | .5315 | .5b328 | .5340 | .5353 | .5366 | .5378
3.5 | .b441 | .5435 | .5465 | .5478 | .5490 | .5502

@D 0.3020 ©2)0.355 ® 1.35

@ 2.30 ® 2.33

o

B

= —0.4498
= -1+ 0.5502

olct,

log(31.4 X A) = 1.0471 9] A
log31.4 +logA = 1.0471
logA = 1.0471 —log 31.4
= 1.0471 — (1 + log 3.14)
= 1.0471 — (1 + 0.4969) (.. 213 A log 3.14 = 0.4969)

84 FolA 2I1FA log3.55 = 0.5502°] 22 A = 0.355
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B>
4>
4z
Ehd
tlo
Q

)

log 80 = log(10 x 8) = 1 4 log 8 ]| A]
0<log8<10o|R&

log80 2] A4 FE-2 10| &4 HE-2 log8o]Tt.
Zn=1a=log80|0&

10" + 10 = 10 + 1088 = 10 + 8 = 18




12.

log3.14 = 0.4969 & o, log 3140'° 2]

Fotofet.
>

> e 34, 0.969

B

7

2~
e

=]
T

1=
pLe

T}

o

2~
T

=]
T

1=
gL

o

==

log 31401% = 101log 3140
— 101log(3.14 x 1000)

= 10(log 3.14 + log 1000)
= 10(0.4969 + 3)

= 10 % 3.4969 = 34.969




13. 2log, ; + logs V72 — %logg, 8-S 7tehs| 5HH?

@ logs2 @ logz2-1 @2log32—1

@ logy +1 ® 2logs 2

2 1
2logs 3 + logs V72— 3 logs 8
23 2
= logg (5) + logs 6 V2 — log; V8
4
=10g3§+log36\/§—log32\/§

4 1
=1 <—><6\/§x—)
083 9 22

=lo 4
= g33
=2logz2-1




14. 32 logz 4-3logsz 2 __% 7]-11‘4_-3] —6—]_%?

@ logs 2 @1

@ log, 3 (@)2

® 2logs 2

32 log; 4-3logz 2 _ 3log3 16-logs 8
_ 310g3 2
_ 2log3 3 _9




15. log;,2 = 0.3010,log;y 3 = 0.4771 ¥ wf, 12308 & 2] 51717

@ 31 @ 32 (@)33 @ 34 ® 35

&8

log, 12%° = 301og(22 x 3)
= 30(21og;, 2 + log;, 3)
= 30(2 x 0.3010 + 0.4771)
= 32.3730 = 32 + 0.3730

logy 12%0 ©] 2| %7} 320] 22
12302 33 42| A=poltt,




16. logy(x—5)2 9] Zko] EAI517] §Iak x 0] W2

D x>4 @ x<5 ® x>5 @ x#4 (@)x;ﬁB

(x=5)2>0=2HEH x+5




17. log, 2+ logg 4 —log; 82 ZH?

1 1 1 5

B

logyz 2 + logys 22 — logya 23
1.2 3 6+8-9
- 3

2 1T 12
5
12




18.

OJFYAHA ¥ +ax+6 =09 F Fa, BAF T, B0<a<p)
o thste] b = - a2t & 1, log, a3 + log, B5 = %015}. oo, A
a, boll tste] a? + b? O] gt ot et

IR 52 +ax+6=09 F 2o o, B0 < <f)oIER
a+pB=-a, o =6
log, a3 + log, B = log, (af3)

W=

1 2

log, 6 = 20|22 p? = 6

b2 = (B-a)?
=B+a)?-4af=a>-24=6
a2 =30

wa®+b*>=36




19. logs(logyx) = 1 o, x o] 3t-2?

@ 3 @ 4 ® 12 @ o7 D)4

log;(logy x) = 1914 log, x =3
x=43=64




20. a>0,b>0,a#1, b#1°1 log,.,ab? =32 w, log, b2 7H-2?

@s o3 060-1 @3 oF

B ~

logab® loga+2logh
- log a®b B 2loga + logb
loga + 2loghb = 6loga + 3logh
—5loga = logb
-5=1log,b
. log,b=-5

= 3904

log,», ab*




